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¤ĚČîƓ
�ĸŊ�ŀłķňĿĸ�łŁ��ļŁĸĴŅ�	ĿĺĸĵŅĴ�Λ��ĴĶĻļŁĸ��ĸĴŅŁļŁĺ
Ɣ �ņļŁĺ��ļŁĸĴŅ�	ĿĺĸĵŅĴ�̂����Ŋĸ�ĶĴŁ�ĿĸĴŅŁ�ĻłŊ�łňŅ�ņŌņŇĸŀņ�ĵĸĻĴŉĸ˫
Ɣ �ĴņŇ�Ňļŀĸ˨�Ŋĸ�Ŀłłľĸķ�ĴŇ��ŌņŇĸŀ��ķĸŁŇļηĶĴŇļłŁ�ŊĻļĶĻ�ňņĸķ��ĸĴņŇ˭�ńňĴŅĸņ�

Ňł�ĿĸĴŅŁ�ĴŁ�ňŁľŁłŊŁ�ņŇĴŇĸ˭ņŃĴĶĸ�ŀłķĸĿ˫
Ɣ �Ł�ĿĸĶŇňŅĸ˨�Ōłň�ŊĸŅĸ�ļŁŇŅłķňĶĸķ�Ňł�ŇĻĸ��ļŁĺňĿĴŅ��ĴĿňĸ��ĸĶłŀŃłņļŇļłŁ�

ŊĻļĶĻ�ļņ�Ĵ�ŊĴŌ�Ňł�ĵŅĸĴľ�ķłŊŁ�Ĵ�ŀĴŇŅļŋ�Ĵņ�Ĵ�ņňŀ�łĹ�ļŇņ�˶ĹĸĴŇňŅĸņ˫˷



¬ŃťĵƲŚîƖ�×îŚƲĚ�'ĚČŰţƓŰƞŃƪŃŰť
�Ļĸ�����ĻĴņ�Ĵ�ĿłŇ�łĹ�ĴŃŃĿļĶĴŇļłŁņ�ļŁ��ŀĴĺĸ��ŅłĶĸņņļŁĺ˨���˨��łŁŇŅłĿņ˨�ĸŇĶ˫
Ɣ �Ň�ŇĸĿĿņ�ňņ�ŊĻļĶĻ�ĹĸĴŇňŅĸņ�łĹ�Ĵ�ŀĴŇŅļŋ�ĴŅĸ�ŇĻĸ�˶ŀłņŇ�ļŀŃłŅŇĴŁŇ˫˷
Ɣ �ņĸķ�ļŁ��ĴŇĴ��ĶļĸŁĶĸ�Ňł�ŃĸŅĹłŅŀ�ķļŀĸŁņļłŁĴĿļŇŌ�ŅĸķňĶŇļłŁ˫
Ɣ �Ļĸ�����ļņ�ĴĿņł�ňņĸķ�ļŁ��łŁŇŅłĿņ�Ňł�ŅĸĴĶĻ�Ĵ�ŇĴŅĺĸŇ�ŊļŇĻ�˶ŀļŁļŀňŀ�ĸŁĸŅĺŌ˷



TťťĚƖ�¡ƖŰēƲČƪƞ
�łķĴŌ˨�Ŋĸ�ŊļĿĿ�ĹłĶňņ�łŁ�ŇĻĸ��ļŁĸĴŅ�	ĿĺĸĵŅĴ�ĹňŁķĴŀĸŁŇĴĿņ�ŇĻĴŇ�ĵňļĿķ�ňŃ�Ňł�ŇĻĸ�
�ļŁĺňĿĴŅ��ĴĿňĸ��ĸĶłŀŃłņļŇļłŁ˫

	Ł�ļŁŁĸŅ�ŃŅłķňĶŇ�ļņ�Ĵ�ŊĴŌ�Ňł�ŀňĿŇļŃĿŌ�ŇŊł�ŉĸĶŇłŅņ�ĴŁķ�łňŇŃňŇ�Ĵ�ņĶĴĿĴŅ˫

�ŁŁĸŅ�ŃŅłķňĶŇņ�ĿĸŇ�ňņ�ķĸηŁĸ�ŇĻĸ�ŁłŅŀ�łĹ�Ĵ�ŉĸĶŇłŅ˪
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~ƖƪĽŰĵŰťîŚŃƪǑ
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¬ƓĚČƪƖîŚ�¹ĽĚŰƖĚţ
�ļŉĸŁ�ĴŁ�ŁŋŁ�ņŌŀŀĸŇŅļĶ�ŀĴŇŅļŋ�	˨�ŇĻĸ�ĹłĿĿłŊļŁĺ�ņŇĴŇĸŀĸŁŇņ�ĴŅĸ�ŇŅňĸ˪

̻˫ 	�ĻĴņ�ŅĸĴĿ�ĸļĺĸŁŉĴĿňĸņ˫

̼˫ 	�ĻĴņ�Ł�ĿļŁĸĴŅĿŌ�ļŁķĸŃĸŁķĸŁŇ�ĸļĺĸŁŉĸĶŇłŅņ

Ĵ˫ �Ł�łŇĻĸŅ�ŊłŅķņ˨�	�ļņ�ĴĿŊĴŌņ�ķļĴĺłŁĴĿļōĴĵĿĸ˫

̽˫ �Ļĸ�ĸļĺĸŁŉĸĶŇłŅņ�łĹ�	�ĶĴŁ�ĹłŅŀ�ĴŁ�łŅŇĻłŁłŅŀĴĿ�ĵĴņļņ�ĹłŅ��Ł˫

Ĵ˫ �Ļļņ�ŀĸĴŁņ���ļņ�ňŁļŇĴŅŌ�ĴŁķ�ŇĻĴŇ�	�;��ȁ�˭̻�;��ȁ��˫

A- is symmetric if A- = AT
A- [ '

z } ] A ( E3 )

A = way
- ,

We can pick orthonormal eigenvectors for the matrix A

= ✓ n ✓
T

V will be an orthonormal matrix


